DU MA in Life Long Learning N Extension

Topic:- LLLE MA S2
1) Satyasodhak Samaj was founded by:-

Heaonera JAATS el Fenfie s srm en?

[Question ID = 7731]

1. Jyotiba Phule / weiferar wet [Option ID = 30918]

2. Iswarchandra Vidya Sagar / seazeg ffen ser [Option 1D = 30919]
3. M.G. Ranade / war it s [Option ID = 30920]

4, Lala Lajpat Rai / emen emanry 2r1 [Option 1D = 30921]

Correct Answer :-
e Jyotiba Phule / s=iferan wet [Option 1D = 30918]

2) Arrange in chronological order:-

A. Poona Pact

B. Royal Indian Navy Mutiny
C. Cripps mission

D. Non-cooperation movement

Choose the correct answer from the options given below
lern 3 crafier ol -

1. yon tac

2. e 3o ordt sgfeet
3. g fiera

4, yrEAs1 JAicierol

[Question ID = 7732]
1. C,B,AandD/3,2,1,4

[Option ID = 30922]
2. A,B,DandC/ 1,2, 4,3

[Option ID = 30923]
3. D,A, CandB/4,1,3,2

[Option ID = 30924]
4. A,D,Cand B/ 1,4,3,2

[Option ID = 30925]

Correct Answer :-
e« DA CandB/4,1,3,2

[Option ID = 30924)]

3) Who were not involved in the formation of Swaraj Party?

Fazret urél o s1ool 3 wior onfdrer oidt a7?

[Question ID = 7733]

1. Vithal bhai Patel / figer sug uer [Option ID = 30926]

2. C.R. Das / 3t ame, s [Option 1D = 30927]

3. Motilal Nehru / sixctiener stz [Option ID = 30928]

4. Sardar Ballabh Bhai Patel / srsars acaw sng ueer [Option 1D = 30929]

Correct Answer :-
® Sardar Ballabh Bhai Patel / s7eri aeaw snd ueer [Option 1D = 30929]

4) Which of the following cases laid down the Basic structure doctrine

forsaiferlRaa 3 2 Rewr amrd of g FHzaon Rrgia o reif¥a ffean 3

[Question ID = 7734]

Keshavanand Bharati case / @ommeis st @@ [Option 1D = 30930]

Kihoto Holohan / @il &lcitaar [Option ID = 30931]

Vineet Narayan / fastter smerenn [Option 1D = 30932]

ADM Jabalpur Vs Shivkant Shukla / edtos swengz aens it geren [Option 1D = 30933

B bd R —
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Correct Answer ;-
e Keshavanand Bharati case / @ommeic sizdl @55 [Option 1D = 30930]

5) The idea of Judicial review in the Indian constitution was burrowed from the constitution of

sz siferemer A senfres ellen @ Rrane &) ddenfores A ser o o en

[Question ID = 7735]

1. Australia / siizefern [Option 1D = 30934]

2. U.S.A. / 3z @ swdtor [Option 1D = 30935)
3. U.K. / ga [Option ID = 30936]

4, Canada / asms1 [Option ID = 30937]

Correct Answer :-
o U.5.A. / siepen anser acdies [Option 1D = 30935]

6) Zoonotic disease is transmitted from

Siolfees dlandl ) Baen 2

[Question ID = 7736]

1. Animal to Human / ug 3 smem [Option 1D = 30938]

2. Human to Human / #mera 3 smer [Option 1D = 30939
3. Human to Animal / #mem 3 ugp e [Option 1D = 30940]
4, Animal to Animal / ug @ ug} [Option ID = 30941]

Correct Answer :-
& Animal to Human / ug 3 srera [Option 1D = 30938]

7) Which are the following is not the fat soluble vitamin

forgarferfiae 3 21 wior aan A gerorelta Rrafdrer o8l &

[Question ID = 7737]

1. Vitamin C / fetfdor 7it [Option ID = 30942]
2. Vitamin A / ferfirr v [Option ID = 30943]
3. Vitamin D / ferfar €t [Option 1D = 30944]
4. Vitamin K / faeifder o [Option ID = 30945]

Correct Answer :-
e Vitamin C / Ferfdrsr 3t [Option 1D = 30942]

8) Colourblindness is a

301 eftedloren &ven 8

[Question ID = 7738]

1. Sex-linked genetic disorder / 3= 31 52 anejaiyie Fer [Option 1D = 30946]

2. Sex-linked recessive 3 genetic disorder / 3 31 52 recessivel et Far [Option 1D = 30947]
3. Autosomal dominant disorder / aficisitmer ggm feprz [Option (D = 30948]

4, Autosomal recessive disorder / aiieisime Bafm Bz [Option 1D = 30949]

Correct Answer ;-
e Sex-linked genetic disorder / Jm 31 g amomides fasz [Option 1D = 30946]

9) Consider the following states Which of the states given below have the constitutional obligation to have State Tribal
Welfare Minister?

A. Bihar

B. Jharkhand

C. Madhya Pradesh
D. Maharashtra.

Choose the correct answer from the options given below:-
foraifeil¥aa el uz faanr ®3: -

1. e
2. sIREs
3. @z ggor

4, HERIEC

Fuz feu om0 s # A fipar w5 @1 Adenfore cifra s SaeId woenvt #idl orp @t @1 &|

[Question ID = 7739]
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1. AandB only / 1 3fiz 2 dvaa

[Option ID = 30950]
2. Band Conly / 2 3fiz 3 avaar

[Option ID = 30951]
3. A,Band Conly / 1, 2 iz 3 dael

[Option ID = 30952]
4, A,Cand Donly / 1, 3 ifiz 4 Baer

[Option ID = 30953]
Correct Answer :-
e BandConly /2 3% 3 dvae
[Option ID = 30951]

10) Consider the following statements.

1. Palghat Gap is located between Cardamom hills and Anamalai hills.
2. New Moore Island is located in Arabian Sea between India and Pakistan.

Which of the statements given above is/are correct?
forsaiferRaa ool uz feme a5d

1. urerane 3 wrstas a3l 3y swpomarens usif3il @ dfa Bera &
2. o3 #F Sa s 3 urfdpearer @ i ara aeR # Ruaa &

Huz u ame aerell A A wior a1 w8t 8/87
[Question ID = 7740]

1. 1only / @aer 1 [Option ID = 30954]

2. 2 only / @wer 2 [Option ID = 30955]

3. Both1and 2 / 1 ifiz 2 St [Option 1D = 30956]

4, Neither 1 nor 2 / ardt 1 sfiz @ &t 2 [Option 1D = 30957]

Correct Answer ;-
e Neither 1 nor 2 / @it 1 sfiz @ & 2 [Option ID = 30957]

11) What is the correct sequence of occurrence of the rivers in Peninsular India as one from North to South?

A. Kaveri
B.Vamsadhara
C.Palar

D Krishna.

Choose the correct answer from the options given below.

Iz A efdror &t aew & gragdidia wea #§ afdal @ 8o a1 18 aa awn &7

ofldl f&u 1w @ @1 Juel o¥d A8l Iz gor?

[Question ID = 7741]
1. B,D,Aand C / 2-4-1-3

[Option ID = 30958]
2. B,C,DandA / 2-3-4-1

[Option ID = 30959]
3. B,D, Cand A/ 2-4-3-1

[Option ID = 30960]
4, A,D,BandC/ 1-4-2-3

[Option ID = 30961]
Correct Answer ;-
e« B, D, Cand A/ 2-4-3-1
[Option ID = 30960]
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12) Consider the following statements:

A. Warren Hastings established Calcutta Madrasa was founded for the study of Muslim law.
B. Jonathan Duncan, started a Sanskrit College at Varanasi for study of Hindu law and Philosophy.

Choose the correct answer from the options given below:
foraaiferfiaa weral uz Reame @l

1. an¥el 3¢s ol weradl eyl & renuon JfFaa orge 0 At Rl @ seaer @ fore & arf =it
2. sitelierol Sasel, ol 8¢ astofal i goleronyey @ siearrel @ fd0 arRdl & vos Fyaya asias 9ps Roan

FHu? [Bu sme wereit # 3 wier am wél &/ &7

[Question ID = 77412]
1. A, only / d@baet 1

[Option ID = 30962]
2. Bonly / aver 2

[Option ID = 30963]
3. Both Aand B / 1 sz 2 il

[Option ID = 30964)]
4., Meither AandB /@ dr1sfizardl 2

[Option ID = 30965]

Correct Answer :-
e Both Aand B / 1 41z 2 gieit

[Option ID = 30964]

13) Who of the following social reformers published a set of notes of “Infant Marriage and Widowhood in India”?

forsaiferlaa 3 2 Roar @amst Fgenee of "snwa 3 Br9f frans iz Rieramast” & silga o vas Ae yaoifdra Roan?

[Question ID = 7743]

1. Ishwarchand vidyasagar / $wes femamer [Option ID = 30966]

2. Raja Rammohan Roy / zrsm zwm@itgar 2r1 [Option ID = 30967

3. B.M. Malabari / #t &1 smenandt [Option ID = 30968]

4, Swami Dayananada Saraswati / sl gemeic 2zt [Option ID = 30969]

Correct Answer :-
e B.M. Malabari / dt &1 smemardt [Option ID = 30968]

14) With regard to word processing software, the process of combining static information in a publication together with
valuable information in a data source to create one merged publication is called:-

as grafiier Jdivedr @ e A, [ gowrver # FEiferr smermrl @ J1e s1er Iia # 9 sholonl @ IRl Of yikoen grt vw ssfaa
Yeb19T61 Follol WY gl Sl 3

[Question ID = 7744]
1. Electronic mail / stmeifenr #a

[Option ID = 30970]
2. Datasourcing / e 2if¥er

[Option ID = 30971]
3. Mail merge / 1wl

[Option ID = 30972]
4, Spam mail / =ia dm

[Option ID = 30973]
Correct Answer :-
® Mail merge / T #al

[Option ID = 30972]

15) The purpose of value education is best served by focusing on:-

e uz eamor Biga wor A ey v orer @ oA &1 gfef At -
[Question ID = 7745]
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Cultural practices prevailing in the society / smra 3 yaféra sizasfores gand [Option ID = 30974]

MNorms of conduct laid down by social group / smnfarers e g Rl amasu & sawids [Option ID = 30975]
Concern for human values / Jmardier ape=ii a5 fere RBiar [Option |D = 30976]

Religious and moral practices and instructions / enfifas ity aiferes gemsit afie fadar [Option 1D = 30977

P s

Correct Answer :-
® Concern for human values / smerdier gpc=ii @ fem fiar [Option 1D = 30976]

16) ldentity the IP address from the following

forgarfci3aa 21 ansdl ua &1 usare w3

[Question ID = 7746]
1. 300: 215.317.3

[Option ID = 30978]
2. 302.215@417.5

[Option ID = 30979]
3. 202.50.20.148

[Option ID = 30980]
4, 202-50-20-148

[Option ID = 30981]
Correct Answer :-
s 202.50.20.148

[Option ID = 30980]

17) In equity theory individuals assess the

sfaradt Rigia 3 caftoal gr anoaor fdvar smar 8

[Question ID = 7747]

Cost-Benefit ratio / cem-enw fise aqurer [Option ID = 30982]
Efficiency-Effectiveness trade-off / sermr-ysmasiicren sz amge [Option 1D = 30983]
Quantity-quality trade off / wiqr-sorar arcl sz argjae [Option (D = 30984]
Outcome - input ratio / ufyvmn emert amura [Option 1D = 30985]

o bt P —

Correct Answer :-
e (Cost-Benefit ratio / eerr-am fise s [Option 1D = 30982]

18) In a particular code, HOSPITALS is coded HSOLSAPTL, the code of BIOLOGICALS will be

uep faom wis 3, HOSPITALS @t HSOLSAPTL @if3a fsen sri &, BIOLOGICALS @1 @13 Gls0

[Question ID = 7748]
1. BLICOALIOSG

[Option ID = 30986]
2. BOLGICAILOS

[Option 1D = 30987]
3. SBLAOILOBCG

[Option ID = 30988]
4. BSILOALCOIG

[Option ID = 30989]
Correct Answer :-
e BSILOALCOIG

[Option ID = 30989]

19) Which of the following is a meteorological hazard

forgarferfiaa 3 21 wior a1 AiaH Heeh waa 87
[Question ID = 7749]

1. Avalanche / Earrmem [Option 1D = 30990]

2. Coastal erosion / adtr @sera [Option 1D = 30991]
3. Land slide / ajf¥1 z=wemwr [Option 1D = 30992]

4, Blizzard / awfen mwre [Option 1D = 30993]

Correct Answer ;-
e Blizzard / awlen e [Option 1D = 30993]
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20) Which one of the following is not an ecological movement

fergarferRaa & A wia a1 v wiR-erfdras siickeror o1&t &

[Question ID = 7750]

1. Pani Panchayat / mitr varrm [Option 1D = 30994]
2. Chipko / féraest [Option ID = 30995]

3. Bhoodan / sgmr [Option 1D = 30996]

4. Pluck and Plant / wrrs itz wre [Option 1D = 30997]

Correct Answer ;-
® Bhoodan / siera [Option 1D = 30996]

21) Which of the following is not social legislation?

forzorfeiBaa A A oier s Rena oifl 8

[Question ID = 7751]

1. Protection of Civil Rights Act / aimif¥s affrsn aféform @1 szsmn [Option ID = 30998]
2. Beggars Act / Biisn Bt afédorem [Option 1D = 30999]

3. Right to information Act / 3jman @ affrerr affiferm [Option 1D = 31000]

4. Forest Conservation Act / aar sizemr aiféferm [Option ID = 31001]

Correct Answer :-
® Forest Conservation Act / aar izgmr aftiferm [Option ID = 31001]

22) Balwantrai Mehta was associated with

ETGIRI ST W JIU 53 &

[Question ID = 7752]

1. Community participation / smeiRre smsilerdt [Option 1D = 31002]
2. Community welfare / smeiEes @eamn [Option 1D = 31003]

3. Community Development / smee s [Option 1D = 31004]
4, Community Organization / s Fewa [Option 1D = 31005]

Correct Answer :-
& Community Development / s o [Option 1D = 31004]

23) Balika Divas in India is being observed on

siza H arfcrent Raxa #aen snan @

[Question ID = 7753]
1. 9% October / 9 smcaz

[Option ID = 31006]
2. 9thNovember / 9 oriaz @t

[Option ID = 31007]
3. 9" December / 9 Raaz

[Option ID = 31008]
4, 9thSeptember / 9 Biaz

[Option ID = 31009]

Correct Answer :-
e 9™ December / 9 Raz

[Option ID = 31008)]

24) According to Article 170, the maximum member of the state Legislative Assemblies which are directly elected could be

arofesds 170 @ arofae, s [Remsrzmnad o He gor siol & aiftrasas e 8 wasedt 8

[Question ID = 7754]

1. 403 [Option ID = 31010]
2. 485 [Option ID = 31011]
3. 484 [Option ID = 31012]
4, 500 [Option ID = 31013]

Correct Answer ;-
e 500 [Option ID = 31013]

25) Pietra dura, a decorative style, was adopted in the Mughal architecture from the reign of

Rroar s2z1, vas Henadl dicll, #ra arrdmear d oerpTel A MU SRIT 1
[Question ID = 7755]
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Humayun / g#ej [Option 1D = 31014]
Jahangir / @itz [Option ID = 31015]
Shah Jahan / smssgl [Option 1D = 31016]
Aurangzed / afizsrata [Option ID = 31017]

P s

Correct Answer :-
® Jahangir / sl [Option 1D = 31015]

26) Match the list & select the correct answer using codes given below:-
Il A Rrener @o¥ stz o 2w a1g o1 @1 Jusiler @i J3E8 Iz ool

Match List | with List II

List I / 5=i- I (Local winds) lList 11 / ==h- II (Countries)

A. LOG / A.) dier 1. West Africa / I) ufimr amftan

B. Samun / B.) 3ot II. Former yugoslavia / II) ud 2iaenfa=n
C. Harmatian / C.) safirtet  [IIL. Pakistan / III) urfes¥anel

D. Bora / D) &t IV. Iran / IV) 3361

Choose the correct answer from the options given below:
wIs: -

[Question ID = 7756]
1. A-ll,B-ll, C-IV,D -l / A-II, B-III, C -1V, D -I

[Option ID = 31018]
2. A-lll,B-IV,C-1,D-II/A-1,B-1V,C-1,D-1I

[Option ID = 31019]
Fo - N B - o D - LA -6 B -1 E = 3 T~

[Option ID = 31020]
4, A-1,B-II,C- MD-V/A-1,B-1II,C- IID-1IV

[Option ID = 31021]

Correct Answer :-
o A-IILB-IV,C-l,D-1I/A-TIL,B-IV,C-1,D-1I
[Option ID = 31019]

27) Flat - topped sub-marine mountains are called

auel [9rER Ju-JHG) usrsl Wl @el il &
[Question ID = 7757]

1. Sea mounts / aer an3e [Option 1D = 31022]

2. Abyssal Mounts / ofésrer midea [Option 1D = 31023]
3. Guyots / spitesr [Option 1D = 31024]

4, Sea Volcanoes / w9t smenazdt [Option 1D = 31025]

Correct Answer :-
e Guyots / spiicar [Option 1D = 31024]

28) What is generally not true of shifting cultivation

A diz uz fOrficsr @l @1 wa dt &
[Question ID = 7758]
1. Rotation of field / & apmor [Option 1D = 31026]

2. Absence of drought animals / oners eIz JEol arel wgpsll &t acquieda [Option 1D = 31027]
3. More often than not the homestead is not shifted / PaEa @1 ar-aw Feorisa o@l e smen [Option ID = 31028]

4, It is a great catalytic force for community life / =z ameREs Sios @ #w oo #zm 3qE@ aa & [Option 1D = 31029]

Correct Answer :-
e More often than not the homestead is not shifted / fama @ ae-ar suemfa @@ fen swen [Option ID = 31028]

29) Which one of the following state is the largest producer of Tin

forgaifeil¥ana 3 3t wial 211 71w @o1 @1 212 @31 UKD &

[Question ID = 7759]

1. Rajastan / sizens [Option ID = 31030]

2. Odisha / sif&en [Option ID = 31031]

3. Jarkhand / smews [Option 1D = 31032]

4. Chhatisgarh / w@disme [Option 1D = 31033]

Correct Answer :-
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e Chhatisgarh / wmrifise [Option ID = 31033]

30) Z5S stands for:-

SIS . U, UA @I Y oA B:-

[Question ID = 7760]
1. Zila Sewa Samiti / fen 2 s

[Option ID = 31034)]
2. Zila Sadbhawna Samiti / Bren sgreasn athf

[Option ID = 31035]
3. Zila Samanwaya Samiti / fen e A

[Option ID = 31036]
4. Zila Saksharta Samiti / Gen sneran mffRT

[Option ID = 31037]

Correct Answer :-
e Zila Saksharta Samiti / Ben sugieen afdd

[Option ID = 31037]
31) Match the list & choose correct answer:-
el 3 Frensr w6¥ sy =8 s geit-

Match List | with List Il:-

List I / el | IList 11 / 2t I
A. HIV/AIDS is more / A. veasnédl
/ uza aftrrs &

B. Environment conservation is
part of education / B.g=ifazor

1. Vienna / |. Rrem

I1. Population / ||.5merzizzen forem @1

. 9T &
I IE0T
C. Incidence of bounded labour 3
- - III. Agricultural labourers / IIl. @f®
TG
D. World Conference on IV.Socio = human Rights held on
/ D.smerafirer av srifora Rea medical problem / IV.3manfSis -fRifdsean
FIFACIol T

[Question ID = 7761]
1. A-H,B-IIl,C-1V¥,D-1|

[Option ID = 31038)]
2. A-LB-1IL,C-II,D-IV

[Option ID = 31039]
3. A-IV,B-Il,C-lIl,D -

[Option ID = 31040]
Ao Al BV G-l Bl

[Option ID = 31041]

Correct Answer :-

o A-IV, B-Il,C-IN,D-I
[Option ID = 31040]

32) Which of the following is an informal rural institution?

foraiferi3aa 3t 21 wlo1 v ciiuantyes ayEiior Zzen 37

[Question ID = 7762]
1. Village Panchyat / a# e

[Option ID = 31042]
2. Family / uf¥ar

[Option ID = 31043]
3. Youth Club / geraem

[Option ID = 31044)]
4. Mone of these /[ &t 31 &1 ol @&
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[Option ID = 31045]
Correct Answer :-
e Village Panchyat / s gen=m@

[Option ID = 31042]

33) After identifying the problem of a student the correct sequence adopted by a counselor to solve the problem is:-

A. Generate possible solution
B. Choose the best solution

C. Evaluate each solution

D.Asses the success failure of solution
E.Implements the solution

Choose the correct answer from the options given below:-

e 91, 1 FHFN B usarel @l @ gl JAHXA DI & @Iol @ 10 vas gamelerdn @131 agene s1e JEl sofagA &

A.3iwa Jaenel 3cucol a3
B .71a31 st Fantel ol

C.ycdras Haenel as1 Feaiasel asd
D .aranenst @bt ABerdl ARABCIAr W1 ATERT6l odl &
E.wanenst @) ae) o 8

[Question ID = 7763]
1. A,C,B,DandE

[Option ID = 31046]
2. A€ B Eand D

[Option ID = 31047]
3. C,A, B EandD

[Option ID = 31048]
4, C,A, D, B, andE

[Option ID = 31049]
Correct Answer :-
e« AC B EandD
[Option ID = 31047]

34) The full name of 'BHIM' is to:-

'‘BHIM' &1 gzt ot &: -

[Question ID = 7764]
1. Bharat integrated for money / s sét8)s wie ot

[Option ID = 31050]
2. Bharat interior interchange money / soa iR scxisr ol

[Option ID = 31051]
3. Bharat highly integrated mechanism / s smelt séisies ot

[Option ID = 31052]
4, None of these / zorl 31 © ot ot

[Option ID = 31053]
Correct Answer :-
s None of these / sl 31 oo afl ol

[Option ID = 31053]

35) Negotiation' may consider as:-

oteltfenore fRrmvfier 3: -

[Question ID = 7765]
1. Soft skill / 3ifwe RBasa

[Option ID = 31054]
2. Hard skill / & fFaa

[Option ID = 31055]
3. Business, communication & Hard skill / @6, aswjfordarer vd a1g Rasel eeraae, siar iz ofdor elare
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[Option ID = 31056]
4, All of these / st e

[Option ID = 31057]
Correct Answer :-
o Soft skill / 3ive BFea

[Option ID = 31054]

36) International Literacy day celebrated on:-

Jiiecler Fngean Raw fiva Rer were=m soar 3: -

[Question ID = 7766]
1. 5 December / 5 aaz

[Option ID = 31058]
2. 9 December / 9 B

[Option ID = 31059]
3. 24 Movember / 24 oaaEs

[Option ID = 31060]
4, None / o a@idl

[Option ID = 31061]

Correct Answer :-

e None / o ol
[Option ID = 31061]

37) ‘'Ujjawala Yojna'is dedicated to

"sstacnt Alston’ Roads o yaftha 8

[Question ID = 7767]
1. A) Elimination of Malnutrition / @uiuor @1 Fodciol

[Option ID = 31062]
2. B) Elimination of female feticide / waen s acen w1 3oacrel

[Option ID = 31063]
3. C) Decrease use of fossil fuel / Sires Serer s IuRlel A EIel

[Option ID = 31064)]
4. D) Only C is correct / avaer C it

[Option ID = 31065]

Correct Answer :-

e D) Only C is correct / @ae C 2@t &
[Option ID = 31065]

38) Consider the following statements and identify incorrect.

forsaiféilRaa el uz Rrar a3 3z srea & usars ©3 |

[Question ID = 7768]
1. Panchayati Raj system (PRIs) was started from Rajasthan. / varrit s smzen (PRIs) srenar 3 g &t o et

[Option ID = 31066]
2. Minimum reservation for women in Panchayati Raj system is to 33% / damrrh 351 cerazen 3 afgonall o P seoiow amsmn 33% 2

[Option ID = 31067]
3. 60-70% population of India dependent on agriculture. / smea @t 60-70% S ot w el &

[Option ID = 31068]
4. All above are correct / 3udws it 3 &

[Option ID = 31069]

Correct Answer ;-

e All above are correct / suwdies =l it &
[Option 1D = 31069]

39) Which one is incorrect?
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eial AT a1ctea &7

[Question ID = 7769]
1. Beti Bachao, Beti Padhao' schemes associated with women & child development Ministry. / ‘3@t aaail, adt uanl’ disom aiden va arel R sidger 3 5Et 8

[Option ID = 31070]
2. Mahatma Gandbhi is known as Martin Luther of India. / sarcan arieft @) smaar @ sfdor qers & wu @ sen smwn &

[Option ID = 31071]
3. Every year Educational Development Index (EDI}) made by UNESCO. / yoivent grar e srn & 2 dides ke Jamia (EDI)

[Option ID = 31072]
4, The largest population of scheduled tribe live in M.P. / aspayfir stetsnfer &1 2rad) ast amardt sy

[Option ID = 31073]

Correct Answer :-
e Mahatma Gandbhi is known as Martin Luther of India. / sz selt @t smea @ mfdor cfer @ a3 Srel o 2

[Option ID = 31071]

40) How much percentage of labour force works in informal sector in India

A H sfeitaani¥as g A 9 aa a1 fsaoen gfdera 8

[Question ID = 7770]
1. 30-40%

[Option ID = 31074)]
2. 80-90%

[Option ID = 31075]
3. 10-20%

[Option ID = 31076]
4. 20-30%

[Option ID = 31077]
Correct Answer ;-
e 80-90%

[Option ID = 31075]

41) Which scheme is dedicated to improve skill among minority youths?

sreuzees garsil & da wiera 3 Fenz & o olar 1) Aison aaftia 3

[Question ID = 7771]

1. Parvaaz / uzara

[Option ID = 31078]
2. Dastkaar / sevame

[Option ID = 31079]
3. Tareekh / mof¥ma

[Option ID = 31080]
4. All of these / st faesea

[Option ID = 31081]
Correct Answer :-
o Parvaaz / uzama

[Option ID = 31078]

42) lIdentify the incorrect sentence about Sukanya Samriddhi Account

Abol AL T D and I srer ara Bl usdrel o

[Question ID = 7772]

1. Account can open in any post-office & government banks. / zmon fsait sit swesus 3z seardt i 3 ager oo & [Option 1D = 31082]
2. Its covers all child which including PH / s apsft acd oot onfdier fpen arenr & fremi diva onfdrer & [Option ID = 31083]

3. Minimum account balance is to Rs. 1000. / &eera z@en 9 1000 2 [Option ID = 31084]

4. Sukanya Samridhi valid up to 21 years of age. / Jjwoen s@fs 21 adf &t ane s s & [Option ID = 31085]

Correct Answer :-
e |ts covers all child which including PH / s31as 31sft acd @51 gnfirer fésen sren & B diva snfdier  [Option ID = 31083]

43) Which one of these may be considered as an aim of youth Hostel?
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gotal A @lel AT Yan gired @ IooM & ford Rrarzoila &1 woan 87

[Question ID = 7773]
1. 1) To encourage youth for travel and for experience of cultural heritage of country. / =y @ @m iz Sor & siefies ReewT o sopra o B ganai ot

givanfder avzen

[Option ID = 31086]
2. 2) Accommodation with affordable price for youth. / amit @ e sl & @ sner amar

[Option ID = 31087]
3. 3)Only (1) is correct / 1 31dl 2 Reseu

[Option ID = 31088]
4. 4) (1) & (2) are correct / (1) afiz (2) Soit 3t 2

[Option ID = 31089]
Correct Answer :-
e 4) (1) &(2) are correct / (1) 3z (2) oo zdt 8

[Option ID = 31089]

44) Which one is correct about right to Information?

s @ AftreR @ an # wid 3 s A8 37

[Question ID = 7774]

1. RTlis a social right / anadfland ves senfes arféesz & [Option 1D = 31090]

2. RTI is constitutional right / amdtang Fidenfores sifédasra & [Option ID = 31091]
3. RTl is a personal right / amsdland ves safvreia aféeez & [Option 1D = 31092]
4. RTlis a legal right. / smztans. v wwel afiesr £ [Option 1D = 31093]

Correct Answer :-
e RTl is a legal right. / sm2dt.ans. v @EeEl afiesr & [Option ID = 31093]

45) Which article of the constitutions is not associated with children

Fifaenst @1 Siol A1 anféaa adi A 51 o8l &7

[Question ID = 7775]
1. Article -12 / ampads -12

[Option ID = 31094]
2. Article-24 / arggeids -24

[Option ID = 31095]
3. Article-45 / aojeia -45

[Option ID = 31096]
4, Article-15(3) / () smeds -15 (3)

[Option ID = 31097]

Correct Answer :-
e Article -12 / amgede -12
[Option ID = 31094]

46) Who is Juvenile?

fipoiz wiar &7

[Question ID = 7776]

1. A person who has not completed 21 years of age. / v cafes Gt 21 add @51 angy g s &1 & [Option 1D = 31098]
2. A person who has not completed 16 years of age / wr =i et 16 ad &1 ey gt si@l &t & [Option |D = 31099]

3. A person who has not completed 18 years of age / v cafes Bzt 18 ad @t amg gt ot &t & [Option 1D = 31100]
4. A person who has not completed 25 years of age. / v cafep Bewt 25 ad &t ang git ot &6t & [Option 1D = 31101]

Correct Answer :-
® A person who has not completed 18 years of age / v =afes el 18 ad @t ang gt ot o6t & [Option ID = 31100]

47) Which is not correct about ‘Education’?

i 'foren’ @ an # wEt asl &7

[Question ID = 7777]

1. Education is agent of social Change / igign smenfSres uf¥adst @1 wsie & [Option ID = 31102]

2. Education is not instrument of modernization / f&n anyferbiasan @1 smeer aidf & [Option 1D = 31103]
3. Education ensures positive action / [9ign scpraess ardars Jlorida oxdl 2 [Option 1D = 31104]

4. Education cultivates necessary intellectuals / fogn smage Figmil @l 3iua @z & [Option 1D = 31105]
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Correct Answer :-
e Education is not instrument of modernization / fémm smferbiaszon @ smemer @it 2 [Option ID = 31103]

48) Consider the following statements and identify incorrect:-

forgarferBaa weeil u? are a3 3§z sraa & usarer a3 -

[Question ID = 7778]
1. A) Revolution is fundamental change of the existing social order. / @ife1 silser smwnfSen sqazen @1 e ubada 2

[Option ID = 31106]
2. B) It does not occur gradually / g di3-oid oféa o2 g &

[Option ID = 31107]
3. C) Only A is correct / abaer A 3t

[Option ID = 31108)]
4, D) (A) & (B) are correct / (A) & (B) =t &

[Option ID = 31109]
Correct Answer :-
e () Only A is correct / aaer A 3idt
[Option ID = 31108]

49) With reference to National Board for Wildlife, Consider the following statements
Which of the statements given below is are correct?

A. It has been constituted under the Wildlife Protection Act. 1972.
B. It is headed by Minister of Environment, forest and Climate Change.
C .Its recommendations are binding on the Union Government.

Choose the correct answer from the options given below:

e aoeeila a1 @ e 3, Prefalaa oeell ur Rear ol

A. @18 gousila Fzgr sftfera @ dsea s1fda o srn 8 1972
B. sareht arezigren wmifarvn, aet iz Srorar] uf¥adet #idl @ 8
C. sudbl Rl dig Avesr & R aeaesdl

Huz o 1o ool 3 A Sl smwd 2/ &7

[Question ID = 7779]
1. Aand Bonly / @am A 3z B

[Option ID = 31110]
2. Band C only / aaer B afiz C

[Option ID = 31111]
3. Aonly / asaer A

[Option ID = 31112]
4. A,BandC/A,B sz C

[Option ID = 31113]
Correct Answer ;-
o Aonly / dvaa A
[Option ID = 31112]

50) Emissions from which of the following sources can cause acid rain?
Select the correct answer using the code given below.

A. Volcanoes

B. Swamps

C. Plankton in the ocean

D. Power generation from fossil fuels

Choose the correct answer from the options given below:

foraiferfae af A v Fia A e aul 81 wadl 87

A. sarcrgdl
B. ool
C. #graPER i wasm

D. sitenos $erer A [@Asredl saurcar
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ofldl f&u a1u wis w1 JRNeT w3 HEl Fa ol

[Question ID = 7780]
1. A,BandConly / @ A, B afiz C

[Option ID = 31114]
2. B,CandDonly / e&daer B, C dfiz D

[Option ID = 31115]
3. Aand D only / @aet A 3tz D

[Option ID = 31116]
4, A,B,CandDonly /A, B CafizD

[Option ID = 31117]

Correct Answer :-

e A B CandDonly /A, B CafizD
[Option ID = 31117]

51) Sacred Groves in India can be best defined as

HIZAd H A 39led @l HaA el s A1 ufanfta Roan s wasen &
[Question ID = 7781]

1. The patches in Sunderban mangroves where maneater tigers are worshipped out of fear. / Jgvac #sfia 3 da, Siai Ao andl @1 37 @ SR YN Sidl 2
[Option ID = 31118]

2. The plantation of trees like coconut and banana that produce fruits which are used as offerings to deities. / anf¥=eT 3 @ S5t gail @1 Ao 3 wel @
FruTgol ol & Berp 3w Saoait ©f yare o Fu # feen s & [Option 1D = 31119]

3. Tracts of forest in which all the trees and wildlife within are venerated and given total protection / st o Sore s arsft 01 afie aeerstial & deen
et & afie 368 quer 3fauvr f&en smen & [Option 1D = 31120]

4, Forests where wild animals are sacrificed as a part of a ritual. / o Siai v aeorel o #e1 @ =y # St snerast & afér €1 st & [Option ID = 31121]

Correct Answer :-
® Forests where wild animals are sacrificed as a part of a ritual. / ao S& v JeeoTe o w9l & = 3 serell sieast &) afér 9 aiedl & [Option ID = 31121]

52) With reference to tropical and temperate forests, consider the following statements:
Which of the statements given below is / are correct?

A. Tropical forests consists of very high tree species as compared to temperate forests.

B. Temperate forests have a thin canopy of trees whereas tropical forests have a tick canopy.

Choose the correct answer from the options given below:

Jwsfedeiiz itz anolliatou aoll @ zicsl 3, PrxiftiRaa oeel v Rar ok

A. sraoftareor aoil &t aeron & Joorasfedeiia aoff 3 aga afere Ot & yenferad &t &

B. sarofleieor aofl & O3t &) vas uerell wadl 8kt 2 srafds swresfRdta gall 3 vas apadt doar dren 8
Huz Ru s averell 3 A wior w1 1t 8/ &7

[Question ID = 7782]
1. Aonly / d@vaer A

[Option ID = 31122]
2. Bonly / @aar B

[Option ID = 31123]
3. BothAandB /A B cweil

[Option ID = 31124]
4. NeitherAnorB/&sdarA sficad B

[Option ID = 31125]

Correct Answer :-
® BothAandB / Az B g&t

[Option ID = 31124]

53) Consider the following statements regarding the Basl Convention 1989.
Which of the statements given below is / are correct?

A. It regulates the import and export of hazardous waste among the parties to it.
B. It establishes a legally binding agreement for waste management.

Choose the correct answer from the options given below:

collegedunia:

India’s largest Student Review Platform




et woderal @ Fder i Prafeilaa ol uz far w3 1989

A.2e uiféat & da weenas avaz @ e iz forrfa ol orifde o &
B.z15 srufdrse geter @ fore wioell U A atawidl FAasiian wdal &

»uz f3u a0 weE # A wiar 11 748 & /3 -

[Question ID = 7783]
1. A only / avaer A

[Option ID = 31126]
2. Bonly / a@vaer B

[Option ID = 31127]
3. BothAandB / A sfiz B St

[Option ID = 31128]
4, MNeither AnorB /@A Jizar & B

[Option ID = 31129]
Correct Answer :-
o A only / daer A
[Option ID = 31126]

54) Consider the following planets:

Which of the above given planets are considered as inner planets?
A. Neptune

B. Jupiter

C.Saturn

D.Uranus

Choose the correct answer from the options given below:-

foraifeiRan a6l uz far @i
A . oraeget

B.gssufe

C.orfor

D.z3oia1
Fuz fRu amo aggi 3 A e snafy s sen soan 87

[Question ID = 7784]
1. A,Band Donly / A, B stz D e

[Option ID = 31130]
2. A,CandDonly / A, C sfizD &

[Option ID = 31131]
3. Bonly / B

[Option ID = 31132]
4, MNone [/ o ot

[Option ID = 31133]

Correct Answer :-
e None / & ol

[Option ID = 31133]

55) The famous Mount Olympus is located in which of the following Countries?

gfig ande sfeiua oerfefiaa 3 3 vy Sor 3 Rea &7
[Question ID = 7785]
1. Spain / ¥ [Option ID = 31134]
2. Germany / swistt [Option ID = 31135]
3. ltaly / seclt [Option ID = 31136]
4, Greece / sftr [Option ID = 31137]

Correct Answer ;-
e Greece / sfiar [Option ID = 31137]
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56) Consider the following statements

Which of the statements given below is / are correct?

A. For the formation of dew, dew point should be below the freezing point

B. For the formation of the frost, dew point should be at or above the freezing point.

Choose the correct answer from the options given below:

forsarferlaa werell uz faar ol

A.3lE @ s1oal @ e, i Rig Baios 3 ol den anfdu
B.we @ argo1 @ foru, aila Rig Baios g uz an 39131 Huz dlen aifdu
Hu? Ru a1u aserell A A wiel w1 wél & /87

[Question ID = 7786]
1. Aonly / daer A

[Option ID = 31138)]
Z. Bonly / @ae1 B

[Option ID = 31139]
3. BothAandB /A sz B @il

[Option ID = 31140]
4. Neither AnorB /et A afizardl B

[Option ID = 31141]

Correct Answer :-
e NeitherAnorB /ardr A sfizardt B

[Option ID = 31141]

57) “ Ladang; is a local name of shifting cultivation practiced in

cicia1 ont fIfiéar avedldore ast Femeller ot & SiY atar 3 erren Sirem 3

[Question ID = 7787]

Southeast Asia / aiéror gyd ofdren [Option 1D = 31142]
Africa / st [Option 1D = 31143]

Central America / = s@ii¥a@ [Option ID = 31144)]
Europe / =i [Option ID = 31145]

B T

Correct Answer ;-
e Southeast Asia / afér yd vfden [Option ID = 31142]

58) Which of the following directive principles cannot be challenged for violating the right to equality under Article 14?
Select the correct answer using the code given below.

A. Equitable distribution of the community material resources.

B. Equal pay for equal work for men and women.

C. Preventing the concentration of wealth.

Choose the correct answer from the options given below

sofesde 14 @ asa HATeIal @ AR @1 Jecdsd wel @ e Rrrafeifiaa A 3 oia 3 oiftferderm Bigia o geildl oiél & sn wwedt 87
A eiRin FiEnll @1 JHme o

B.gzwl 3z sifdcmail @ fere s1avel @@ @ foe sJame ddel

C.&ro1 @l upIEfar I Aol

oifcl f&u 310 IS @I IuRNeT WD Sl a2 qoi

[Question ID = 7788]
1. Aand B only / aer A sfiz B

[Option ID = 31146]
2. Bonly / dvaer B

[Option ID = 31147]
3. AandConly / Asfie C &

[Option ID = 31148]
4, A,BandC /A, BaizC

[Option ID = 31149] =
p collegedunia:

India’s largest Student Review Platform




Correct Answer :-
e AandConly / Aafts C &

[Option ID = 31148]

59) With reference to Right to privacy in India consider the following statements:
Which of the statements given above are correct?

A. Right to Privacy has been made fundamental right in K.5. Puttaswamy case.

B. Unauthorized phone tapping is violative of right to privacy.

C. In India only the Central government is allowed to tap the phones.

Choose the correct answer from the options given below:

ard A forerar @ afirer @ e # Brufafiaa weEl ur ffar o

A. @ yrrarh #awren # e @ afirer o #difcr siffrer aern sk &
B. smiftrpa wiar Eftiet forstan @ affror @1 Jcciaa &

C.ora 3 daa dig AR B Bid TU Bl B Aol &

Huz U s wia A e 718t &7

[Question ID = 7789]
1. A and Bonly / asact A stz B

[Option ID = 31150]
2. AandConly / A 3 C &

[Option ID = 31151]
3. BandConly /B s C &

[Option ID = 31152]
4, A,BandC/A,B aC

[Option ID = 31153]
Correct Answer :-
o A and Bonly / @@t A iz B

[Option ID = 31150]

60) With reference to the Pradhan Mantri Kisan Samaman Nidhi (PM-KISAN), consider the following statements: Which of

the statements given below is /are correct?
A. Under the scheme, income support of Rs. 6000- per year in three equal instalments will be provided.

B. It is only available to the farmer families who collectively own cultivable land up to 2 hectares.

C. The scheme to be implemented as a Central Sector Scheme with 100% financial support by the central government

Choose the correct answer from the options given below:-

gereridl Reamer feifer (PM-KISAN) @& Jiesl 31, BraifelRaa weel uz Rar

A =irston & dga 6000 FUR @1 smer Al dier wemel el 3 gfer ad ygrer fisen smoen

B.uig daer Roarer uf¥ar] & fere suere 2 &t aifdes wa A 2 Faear ao WA Qe yf & mfere 3
C.a5g s @t 100% fRrdlr serman Asion & a3 ene) & sirol arcdl 2Nsen

Bz e a1e weeEil A A oo a1 738 2 /87

[Question ID = 7790]
1. AandB only / @aer A iz B

[Option ID = 31154]
2. Conly / asaa C

[Option ID = 31155]
3. AandConly / A aliz C &

[Option ID = 31156]
4, A,BandC/ A, B afiz C

[Option ID = 31157
Correct Answer :-
o AandConly / A 3z C &
[Option ID = 31156]
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61) Which of the statements regarding “ equal protection of laws’ as provided under the Indian Constitution is not correct?
Select the correct answer using the code given below.

A. Equal subjection of all persons to the ordinary law of the land administered by ordinary laws courts.

B. Similar application of the same laws to all persons who are similarly situated

C. Absence of special privileges for any person.

Choose the correct answer from the options given below:

wrxcil Jfaenst @ asa yerer feu 1o "wanet wielofl Fsn " @ FHde 3 wiel 31 el 38l orél 87

A .\ ©lolel @ AN CTerdl ©1R1 Yyonia Hiane ool o Al caftpdl ur 3ael ¥u A a9 ol
B . zmanrer ufd¥aferil f 36 32 ail ur WMol DIololl @1 Uas Aol el19] aloll

C.3iit cafep o e 9 Ridranfire : @1 smra

ofldl 3w a1 @is @1 Ul BFDd Hal I BT aal B

[Question ID = 7791]
1. Aand C only / @aer A afiz C

[Option ID = 31158]
2. Bonly / daer B

[Option ID = 31159]
3. Conly / a¥aer C

[Option ID = 31160]
4, MNone / & ot

[Option ID = 31161]

Correct Answer ;-

e Aand C only / a@aer A 3z C
[Option ID = 31158]

62) Consider the following statements with reference to the inclusion of princely states at the time of independence:
Which of the statement given below is / are correct?

A. At the time of independence, only fifty percent of the princely states had joined India.

B.Junagarh was made a part of India by means of referendum.

Choose the correct answer from the options given below:

Faciqen @ A vl o onfdrer o & Ficel 3 Preitiliaa eell uz ar ok
A, 3enél & wara, daa ward gferera Prnaed soza 3 onfirer g2 off

B .storare ¥ogE @ Sif¥ Sonele @Y Mz o1 331 gerrRn JRm e

Huz [ srn olar A1 oot wél 2/ 87

[Question ID = 7792]
1. Aonly / dvaer A

[Option ID = 31162)]
2. Bonly / davac B

[Option ID = 31163]
3. BothAandB /A stz B dil

[Option ID = 31164)]
4, MNeither AnorB/ordl Adicardt B

[Option ID = 31165]

Correct Answer :-
e Bonly / @aa B

[Option ID = 31163]

63) With reference to the removal of the judges of the Supreme Court, consider the following statements.
Which of the statement given below is / are correct?
A.Provision of removal of judge is taken from the Government of India Act, 1935

B.The motion of the Lok Sabha
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Choose the correct answer from the options given below:-

JeerdadH ARl @ sanellon @1 seral o dHod #H, oaféiBaa ool ar Rens o
A.caremeltor @1 scrol @1 Yraenol M e sifeforia, 1935 31 rm srn 8
B. ellsasn @ #lTel @Rl Hu? &= sren wiel A1 woe 78l 8 / 87

[Question ID = 7793]
1. A only / @aer A

[Option ID = 31166]
2. Bonly / @aa B

[Option ID = 31167]
3. BothAandB /A sz B cwil

[Option ID = 31168]
4, MNeither AnorB /@drA sficardl B

[Option ID = 31169]

Correct Answer :-

e Neither AnorB /aretA sfoadt B
[Option ID = 31169]

64) Which of the following parties were established by Dr. B. R. Ambedkar?
Select the correct answer using codes given below.

A. The peasants and workers party of India

B. All India Scheduled caste federation C.The independent Labour party

Choose the correct answer from the options given below

3l dl. s s ®? of PrefaiBaa 3 A Roa ca & remuen & 7
A sieliar Reamet afie #sicg ca

B.arf¥aer siraefter aropaafera snfer ssreia

C.53103e draz urdd

féu sre @wis w1 JuieT ad HEl I ol -

[Question ID = 7794]
1. Aand B only / d@ac Aasfis B

[Option ID = 31170]
2. BandConly/ B afiz C&

[Option ID = 31171]
3. AandConly / A afiz C&

[Option ID = 31172]
4. A,BandC /A, B aiz C

[Option ID = 31173]

Correct Answer :-
e BandConly/ B 3z C&

[Option ID = 31171]

65) The Rowlatt Act aimed at

Jlere vae @1 389 AT

[Question ID = 7795]

1. Compulsory economic support to war efforts / #g yemeil @ e aiférard snféfa smren [Option ID = 31174]

2. Imprisonment without trail and summary procedures for trail. / @en crer e affefia yfien @ d@dt gemen [Option 1D = 31175]
3. Suppression of Khilafat movement / Baamsa asighers an gaa [Option 1D = 31176]

4, Imposition of restrictions on freedom of press. / G &t Faciipn w ylien [Option 1D = 31177]

Correct Answer :-
® |mprisonment without trail and summary procedures for trail. / fen grrer s afdafdan yfasn @ ddl goman [Option ID = 31175]

66) The Lahore session of the Indian National Congress (1929) is very important in history because Which of the statement
given below is/are correct?

A. The Congress passed a resolution demanding complete independence

collegedunia:

India’s largest Student Review Platform




B. The fight between the extremists and moderates was resolved in that session
C.A resolution was passed rejecting the two nation theory in that session

Choose the correct answer from the options given below:-

sreilr el asiv)za (1929) @ enélr aiftrdoret sfererar 3 aga wscayvi & a=uifs
A @id ot gul yaddgan & #ier a3 gu vas grera e fRsen

B.azadf2ril itz sreadaf2r @ dla &) a1 33 aq A sa a8 a2 el

C.33 Iq d @1 e, Brgia @) snfysr @s3a gu vw grama uifya Rsan srm en
Hu? fean srn wial A1 weer WSl &/ &7

[Question ID = 7796]
1. Aonly / dvaer A

[Option ID = 31178
2. BandC/ Bz C

[Option ID = 31179]
3. AandC /A 4z C

[Option ID = 31180]
4. None of these / saii 31 s st oidf

[Option ID = 31181]

Correct Answer :-
e Aonly / @ A

[Option ID = 31178]

67) Jal Shakti Abhiyan Campaign for water conservation was launched in which year by the Central Government in India?

Siel FgIvl @ [ siar orftp sifiramst srzer 3 diq oo @1 913 fésan srm en

[Question ID = 7797]

2019 [Option ID = 31182]
2020 [Option ID = 31183]
2015 [Option ID = 31184]
2010 [Option ID = 31185]

A bl B —

Correct Answer :-
& 2010 [Option ID = 31185]

68) Eritrea, which became the 182"9 Member of the United Nations in 1993, is one the continent of?

1993 & igee wieg a1 182 &i wgra gorol aren s3fezn serdiu Ry an &7

[Question ID = 7798]
1. Asia / ufdrn

[Option ID = 31186]
2. Europe / g

[Option ID = 31187]
3. Australia / sifz2fern

[Option ID = 31188)]
4, None of these / ol 31 @i ol ordl

[Option ID = 31189]

Correct Answer :-

e None of these / sowt 31 i aft ardf
[Option ID = 31189)

69) Identify the place where Garampani sanctuary is located in India.

33 Torol o) usarel @f STl M J SEAUreh s e ;-

[Question ID = 7799]
1. Gangtok, Sikkim / s@rehs, e

[Option ID = 31190]
2. Korima, Magaland / s\, anendds

[Option ID = 31191]
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3. Diphu, Assam / &, 3@

[Option ID = 31192]
4, None of these / zori 31 o ot ardf

[Option ID = 31193]

Correct Answer :-
e Diphu, Assam / g, M
[Option ID = 31192]

70) Which among the following is the largest railway station in the World?

forForfeiBan 3 A o@ior 211 fra @1 a3 as1 Yad e 37

[Question ID = 7800]
1. Grand central Terminal park Avenue, new York. / 3]z g efffoier ures vdoey, o9 i

[Option ID = 31194]
2. Central Station London, Uk / 3Jica sevmr cicar, fiea

[Option ID = 31195]
3. Kolkata Railway station, India. / @iowerT o6t 096, AT

[Option ID = 31196]
4. None of these [ sot 31 et aft ordf

[Option ID = 31197]

Correct Answer :-
® Grand central Terminal park Avenue, new York. / 3}z Jicer efdfofer ured vdoe], o i

[Option ID = 31194]

71) Name the State in India having the largest area among the following options

forrarferBaa Rraseal 3 3 3a3 a1 8 snza @ vy asa @1 &

[Question ID = 7801]

1. Rajasthan / srsrwens [Option 1D = 31198]

2. Uttar Pradesh / 32 gydar [Option 1D = 31199]
3. Madhya Pradesh / &= gaar [Option 1D = 31200]
4, Maharashtra / smrme [Option 1D = 31201]

Correct Answer :-
e Rajasthan / zrszemar [Option 1D = 31198]

72) Who among the following started two major newspapers such as Maratha and the Kesari

forgarferfiaa 3 21 Rparor s1ren stz @5adl 5 <1 Y Jarar udq 9 [ &

[Question ID = 7802]

Lala Lajpat Rai / &en emanad #rr [Option 1D = 31202]

Gopal Krishna Gokhale / silurer gyoor siteet [Option 1D = 31203]
Bal Gangadhar Tilak / a1 senerz Freres [Option ID = 31204]
Madan Mohan Malviye / amgar #itgar awerdter [Option ID = 31205]

o d =

Correct Answer :-
e Bal Gangadhar Tilak / aret semer s [Option 1D = 31204

73) Golf Player Vijay Singh belongs to which Country?

aftews Racrst faerr Bis oo Sor A mwafta?

[Question ID = 7803]
1. UK / f@el

[Option ID = 31206]
2. India / smea

[Option 1D = 31207]
3. Fiji / fisslt

[Option ID = 31208]
4. None of these [ somt 31 oot aft ardf

[Option ID = 31209]

Correct Answer :-
o Fiji / sl
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[Option ID = 31208]

74) MOUNT ETNA is a famous volcano of which country?

MOUNT ETNA fepa1 291 @1 ves gfitg sarcmadl 27

[Question ID = 7804]
1. ltaly [/ seeht

[Option ID = 31210]
2. India / sm@

[Option ID = 31211]
3. Australia / dif=fern

[Option ID = 31212]
4. None of these / ol 31 o off ot

[Option ID = 31213]

Correct Answer :-
e |taly / sceft
[Option ID = 31210]

75) Name the first non- Indian to receive Bharat Ratna

Il Zcol YIH Dol dicl Uscl 31 HIIIRI DI ollH Selse

[Question ID = 7805]

Martin Luther King / anfda ez fasar [Option ID = 31214]

Khan Abdul Ghaffar Khan / zarer areger aqwie zare [Option 1D = 31215]
Aubin Mehta / anfder fizen [Option 1D = 31216]

Mother Teresa / anfdat dieen [Option 1D = 31217]

T A

Correct Answer :-
# Khan Abdul Ghaffar Khan / st areger sirwrs zm [Option 1D = 31215]

76) National Adult Education Programme was launched which year in India?

AR aeren (9181 BrRia s 3 e ad 9 [pen s en?
[Question ID = 7806]

1. 1978 [Option 1D = 31218]

2. 1947 [Option ID = 31219]

3. 1980 [Option ID = 31220]

4. 1988 [Option ID = 31221]

Correct Answer :-
e 1978 [Option ID = 31218]

77) The main objectives of the United Nations are the following. Select the correct answer.

HYep weg, @ e 329 forsiferfiaa & 9l srara uz wél @1 fBremet aemd: -

[Question ID = 7807]
1. To maintain peace and security in the world. / sufer sfie Fzen g gt glern & aonet saoon

[Option ID = 31222]
2. To work together for education, health and culture / tSign, Farzee sfiz dwply & B Berss o o

[Option ID = 31223]
3. To develop friendly relation among nations / 2 @ dta dfiyot e R owen

[Option ID = 31224]
4. All of these / it e

[Option ID = 31225]
Correct Answer :-
e All of these / sl Rreseu
[Option ID = 31225]

78) The Scottish bacteriologist who discovered penicillin was the following?

Ufsziferar b1 s 2ol arcl Fpifesr silaw] dsufere Greifdiliaa 21 ol 4
[Question ID = 7808]
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Alexender Flamming / uéersi=s uefdisr [Option 1D = 31226]
Albert Einstein / airad asedtor [Option 1D = 31227]
Archimender / sofeBRsEta [Option 1D = 31228]

Aryabhatta / amefaz [Option 1D = 31229]

P s

Correct Answer :-
e Alexender Flamming / vemrsizs widar [Option ID = 31226]

79) Name the place in India where Garampant Sanctuary is located?

3 FeIol I olldl SfsY S1al MIEd ol sEiumit s e 37

[Question ID = 7809]
1. Junagarh, Gujrat / Sensre, ajrat

[Option ID = 31230]
2. Diphu, Assam, Hohma, Nagaland / dhw, apm, g, amencls

[Option ID = 31231]
3. Gangtok, Sikkim / siercts, Biftess

[Option ID = 31232]
4, None of these / zori 31 o ot ardf

[Option ID = 31233]

Correct Answer :-

® Diphu, Assam, Hohma, Nagaland / €lw, am, g, stends
[Option ID = 31231]

80) What is NIRVIK Scheme in India?

sizel 3 NIRVIK =isren a=m &7

[Question ID = 7810]
1. A scheme to help handloom Sector in India / suen 31 gerszan 8l 3 #oe @ o P oo s

[Option ID = 31234]
2. A loan scheme for exporters / frfmrt @ B oo w1 2isen

[Option ID = 31235]
3. A health scheme / vas Farres diaen

[Option ID = 31236]
4. None of these / soii 3 aid aft ardf

[Option ID = 31237]

Correct Answer :-

e None of these / st 31 o aft ol
[Option ID = 31237

81) How many Zeros are there is one hundred thousand?

ves cnea # Roear 9w i 37

[Question ID = 7811]

1. Four [ am

[Option ID = 31238)]
2. Two/a@a

[Option ID = 31239]
3. Eight / ama

[Option ID = 31240]
4. None of these / soii 3 aid aft ardf

[Option ID = 31241]

Correct Answer :-

o None of these / sami 31 @ aft ol
[Option ID = 31241]

82) Which animal is known as the ship of the desert?

fopa Steraz @) IPrEe & JErs @ Fu 3 STl S &7
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[Question ID = 7812]
1. Lion / 9@

[Option ID = 31242)]
2. Dog / @

[Option ID = 31243]
3. Camel / e

[Option ID = 31244]
4. None of these / ol 31 a5 ol ol

[Option ID = 31245]

Correct Answer ;-
o Camel / e

[Option ID = 31244]

83) Which organization presents National Governance Awards?

@iol AT FoT061 ACERT TGl YIFDR YgGIol DIl 37

[Question ID = 7813]

1. Department of Telecommunication / gzsiar Fmr [Option 1D = 31246]

2. Department of Pharmaceuticals / wsfsyféasea fsmar [Option 1D = 31247]

3. Department of promotional Industry and Internal Trade / yars 3eier iz anof¥a cnus Beme [Option 1D = 31248]

4. Department of Administrative Reforms and public Grievances / ysimtforas yenz aiiz vy 9mament Bema [Option 1D = 31249]

Correct Answer :-
e Department of Administrative Reforms and public Grievances / gomiferes s afiz eltes [Srpre st [Option ID = 31249]

84) Which Indian State celebrates Hornbill festival as the state?

Ziclfaer calerr o 3 srell=r 2159 of 3cdda @ U i Hern?

[Question ID = 7814]

1. Nagaland / swnets [Option 1D = 31250]

2. Arunachal Pradesh / smomes yar [Option ID = 31251]
3. Manipur / afirgz [Option ID = 31252]

4, Tripura / g [Option 1D = 31253]

Correct Answer :-
# Nagaland / sendis [Option 1D = 31250]

85) Where is Mt. Aconcagua Located?

e srimPpn Fera 37

[Question ID = 7815]
1. Argentina / amsidten

[Option ID = 31254]

2. Morth America / a3l aEifyas
[Option ID = 31255]

3. Brazil / gusiter

[Option ID = 31256]
4, None of these / &l 31 aord ol ardl

[Option ID = 31257]

Correct Answer ;-
® Argentina / srfdtan
[Option ID = 31254]

86) Guru Ravisdas jayanti was from which State of India

3> Hawrera sridl sra & oA grea A asdfia 3
[Question ID = 7816]

1. Uttar Pradesh / 3wz ygar [Option ID = 31258]

2. Bihar / fasre [Option ID = 31259]

3. Punjab / gama [Option 1D = 31260]

4, Harayana / st¥emun [Option ID = 31261]

Correct Answer :-
e Uttar Pradesh / 3rz gdw [Option 1D = 31258]
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87) According to the Hurun Global Rich List 2020, the number of billionaires is the highest in which country?

&¥ol Jcitac Pa fRree 2020 @ sraianz, sraufcri & e R Sor i Fa siférs & 7

[Question ID = 7817]

1. China / =& [Option ID = 31262]

2. India / sme [Option 1D = 31263]

3. USA / sigrer w1 s@ityar [Option 1D = 31264]
4, Canada / warst [Option 1D = 31265]

Correct Answer ;-
® China / dtar [Option 1D = 31262]

88) Which of the following report is not released by the World Bank?

forgarferfiaer af A woler 2l Ruld Rrea a5 g sl ordl &1 o1k &7

[Question ID = 7818]

1. World Development Report / frea Freerer Bl [Option ID = 31266]

2. Ease of doing Report / R a5aar 3t st [Option ID = 31267]

3. Global Economic prospect / dfaas anféfas sismasn [Option 1D = 31268]
4. Global Gender Gap Repor / seilae Sise st B [Option 1D = 31269]

Correct Answer :-
® Global Gender Gap Repor / seitaer Siss stu Baied [Option 1D = 31269]

89) When was Mizoram State formed?

firsiiza 21521 asa gon 2n1?

[Question ID = 7819]
1. 20t Feb 1973 / 20 wadt 1973

[Option ID = 31270]
2. 20th Feb 1980 / 20 waadt 1980

[Option ID = 31271]
3. 20t Feb 1987 / 20 waadt 1987 m

[Option 1D = 31272]
4, MNone of these / soit 31 aitd sft aidf

[Option ID = 31273]

Correct Answer :-
e 20™Feb 1987 / 20 waadt 1987 @
[Option ID = 31272]

90) Bronze Dancing Girl was excavated from which of the Historical sites?

Wi gfc asdl @ wer Boa ofdeR rea a g o417
[Question ID = 7820]

Kalibangan / @reftasn [Option 1D = 31274]

Mohanjodaro / #iizar sitgst [Option ID = 31275]

Lothal / =iterer [Option 1D = 31276]

Dholovira / sitemdtar [Option 1D = 31277]

o bl B —

Correct Answer ;-
e Mohanjodaro / #isel siig= [Option 1D = 31275]

91) In which state and the city of India the 19" Hunar Haat was inaugurated?

19 & gor &1c @1 Md @ A 75 3012 962 A 3gru Rsan sren?

[Question ID = 7821]
1. New Delhi / o feeedt

[Option ID = 31278]
2. Jaipur, Rajasthan / seige, arsreems

[Option ID = 31279]
3. Jabalpur, Rajasthan / sz srszemst

[Option ID = 31280]
4, Indore, M.P / sctz, sy

[Option ID = 31281]

Correct Answer :-
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e |ndore, M.P / &1z, a1y

[Option ID = 31281]

92) When was the UDAN Scheme was launched?

UDAN <iioront @ 953 <t a1 #fit?
[Question ID = 7822]

1. 2015 [Option 1D = 31282]

2. 2016 [Option ID = 31283]

3. 2017 [Option ID = 31284]

4. 2019 [Option ID = 31285]

Correct Answer :-
e 2017 [Option ID = 31284]

93) Which country for the first time has claimed to use the antibody test to track coronavirus infectious?

DRIGIARIIH ADIAD Dl ob ol D o uscll ar Rear o1 of oddist udteor @1 Ju=iter e @1 orar e &7

[Question ID = 7823]

China / dia [Option ID = 31286]
Singapore / Remyz [Option ID = 31287]
India / sz [Option 1D = 31288]

Japan / s [Option ID = 31289]

o kad B —

Correct Answer :-
® Singapore / Bismgz [Option ID = 31287]

94) Which of the following tools are used to measure income inequality?

3RT 3Tl ol ATl @ foe oot 3 31 fdpar suwmzur @1 U=l [Re=n smar 87

[Question ID = 7824]
1. A) Lawrence curve / difs o

[Option ID = 31290]
2. B) Gini coefficient / Broslt spmm

[Option ID = 31291]
3. C) Both (A) and (B) / (A) afiz (B) el

[Option ID = 31292]
4, D) None of these / somt 3 @it aft anit

[Option ID = 31293]

Correct Answer :-

e () Both (A) and (B) / (A) afiz (B) Sl
[Option ID = 31292]

95) Which of the following blood group is Universal Donor?

forFaiferlaa 3 21 wia w11 770 W9 Yforazia sior &
[Question ID = 7825]

1. A positive / v, sesreses [Option ID = 31294]

2. A negative / ©v. seE@esss [Option |D = 31295]

3. O positive / st seewcars [Option ID = 31296]

4. 0 negative /[ ail arprerars [Option 1D = 31297]

Correct Answer :-
e (O positive / ait. semTcrs [Option 1D = 31296]

96) Consider the following statements Which of the statements given below is/are correct?
A.Dodabetta is located in Nilgiri hills.

B. Marusthali is the characterstic feature of Indian Desert.

C. Western Ghats passes through 8 states.

Choose the correct answer from the options given below:

foroifciRan werel ur kae @i
A. sSis/Ez offafsl: uaf3l 3 R &
B. siszerch sl YRamar & anf¥fepe fadraar 2
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C. ufehl are 8 wsul A dlas? spsieal & HuR [Gu o1u asereil d A wial 31 HE /87

[Question ID = 7826]
1. AandBonly / @ac A afiz B

[Option ID = 31298]
2. Conly / a5 C

[Option ID = 31299]
3. BandConly / B stz C &

[Option ID = 31300]
4, ABandC/ A, B 3z C

[Option ID = 31301]
Correct Answer :-
e AandBonly / @aer A sie B
[Option ID = 31298

97) Consider the following statements Which of the statements given below is/are correct?
A. Pre-monsoon showers in Karnataka known as mango showers.
B. Hot, dry and oppressing winds blowing in the Northern plains from Punjab to Bihar is called Loo.

Choose the correct answer from the options given below:

forraifeifiaa aseril uz Rran a5

A wifeas 3 diforyer @ usd & auf o s B aui @ = & s srar 3

B.dsma 3 fder aos sadl deell st #d gsal arell s, opeas 3z eHorasrdt sansil @) o war s &
Hu? fEu s1e werell A A wial w1 wé &/E

[Question ID = 7827]
1. Aonly / @ac A

[Option ID = 31302)]
2. Bonly / @aa B

[Option ID = 31303]
3. BothAandB /A sz B il

[Option ID = 31304)]
4, Meither AnorB/amA e &l B

[Option ID = 31305]

Correct Answer :-
® BothAand B/ A sfiz B S

[Option ID = 31304]

98) With reference to the Eklavya Model Residential Schools (EMRSs), consider the following statements: Which of the
statements given below is/are correct?

A. The scheme is being implemented by the Ministry of Human Resource Development.
B.They are set up in States/UTs with grants under Article 275(1) of the Constitution of India
C. In these schools, education will be entirely free.

Choose the correct answer from the options given below:-

udbcted Aisda ararila Fadl (EMRS) & et 3, frailaian wemil uz far ok

A .71z Alstel #ileld FA1esl b idrer Rl oriifead &t om 38 2

B.d sea @ wferensr @ s 275 (1) @ deda siclclel arcl Asl/deoni3ta ggerl 3 renftm &
C.5o1 il a1 1918 gfl e 2 fuea gei

Huz fGu s10 werwEll 3 A Biel a1 Wt 3/3: -

[Question ID = 7828]
1. Band C only / @aa Bafiz C

[Option ID = 31306]
2. AandConly / A afiz C &

[Option ID = 31307]
3. Bonly/ B
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[Option ID = 31308]
4, A,BandC/A, B az C

[Option ID = 31309)]
Correct Answer :-
e BandC only / @aer Bafie C
[Option ID = 31306]

99) When verbal and non-verbal messages are contradictory. It is said that most people believe in:-

org #Hilkaw iz sie-dilaw Feor faRiemid 810 § ¥ wsr snar § @ sareraz aler swd Rearg o 8-

[Question ID = 7829]
1. Interminate message / arfifhea idor

[Option ID = 31310]
2. Verbal message / #ifkrw sidar

[Option ID = 31311]
3. Non-verbal message / di=uifflaes 3w

[Option ID = 31312]
4, Aggressive message [ D ool

[Option ID = 31313]
Correct Answer :-
® Non-verbal message / di=#ifias 33

[Option ID = 31312]

100) Sustainable Development goals (SDGS) are formally known as:-

Had RBrasra aga (SDGS) siiuenfyas wa A smay sie 8: -

[Question ID = 7830]
1. Transforming our world: 2030 Agenda / gféren 3 amper ges af¥eads 2030 wsist

[Option ID = 31314]
2. Sustainable living for All: 2022 Agenda / st o fém axew Saer: 2022 osist

[Option ID = 31315]
3. Life of Dignity for all: 2022 Agenda / it @ fem Sftaar &6t gfemen: 2022 odi=t

[Option ID = 31316]
4. One planet, one people, 2030 Agenda / vw afg, vas dler, 2030 vais

[Option ID = 31317]

Correct Answer :-

e Transforming our world: 2030 Agenda / gforn 3i smjet gep ui¥ader 2030 wSist
[Option ID = 31314]
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